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W(1,2)+D(2, {3, 4}) ORW(1,

3)+D(3,{2,4) ORW(1,4)+D(4, {2, 3})) = (22, 21,inf)
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house.go > @ findMaxProfit
main

" fmt"

max(a, b
ifa>b {

return a
}

return b

maxProfit(profit []
len(profit)
make([]1[1int, n)
0; i <n; i++ {
make( [1int, n)
0; j <n; j++ {

return findMaxProfit(profit, dp, @, n-1, 1)

findMaxProfit(profit [lint, dp [1[lint, left, right, year
if left == right {
return profit[left] * year
}
if dplleft][right] != -1 {
return dp[left] [right]

dp[left] [right] = max(
profit[left]xyear+findMaxProfit(profit, dp, left+l, right, year+1),
profit[right]xyear+findMaxProfit(profit, dp, left, right-1, year+1))

return dpl[left] [right]
main() {

fmt.Println(maxProfit([lint{2, 4, 6, 2, 5})
}

TERMINAL
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ex > alpha.go > ...

1

TERMINAL

(env) -
6
(env) -

max(a, b int) int {
ifa>b {

return a
+

return b

(
ASCENDING
DESCENDING =

aplhaFinder(arr [lint) int {
n := len(arr)
dp := make([]l[lint, n)
for i :=0; i <n; i++ {
dp[i] = make([lint, 2)
dp[i] [ASCENDING], dp[il] [DESCENDING] = 1, 1

for i :=0; i <n; i++ {
for j :=0; j < i; j++ {
if arr[il > arrljl {

dp[i] [ASCENDING] = max(dp[i] [ASCENDING], dp[j] [DESCENDING]+1)
} else {

dp[i] [DESCENDING] = max(dp[i] [DESCENDING], dp[j] [ASCENDING]+1)

+
maximum := -int(1le3)
for i 1= 0; i <n; i++ {
maximum = max(maximum, max(dp[i] [ASCENDING], dp[il] [DESCENDING]))
+

return maximum
main() {
fmt.Println(aplhaFinder([lint{1@, 22, 9, 33, 49, 50, 31, 60}))

SQL CONSOLE: MESSAGES  DEBUG CONSOLE  PROBLEMS (1 OUTPUT

ex run alpha.go
ex []
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5.
Dijkstra :
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Bellman-Ford :
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b) The only difference between the two is that Bellman-Ford is also capable of handling
negative weights whereas Dijkstra Algorithm can only handle positives.

Note :

Dijkstra is however generally considered better in the absence of negative weight edges,
as a typical binary heap priority queue implementation has O((|E[+|V|)log|V]) time
complexity [A Fibonacci heap priority queue gives O(|V|log|V| + |E|)], while the
Bellman-Ford algorithm has O(|V||E[) complexity.



